1)50+20=
2) 8+6=
3) 15+3=
L) 7+8=
5) 30+ 7=
6) 2+ 7=

8) 16 +3=
9) + =
10) + =

11) 13-5=
12) 19 - 3=
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1) 6 x72=
2) 32 x3=
3) 4x7T=
4) 30 X 7=

6) 84 x 3=

8) 103 X 6=
9)

X —
10) x =

20)

11) 560 ~ 8=
12) 62 ~ 8=
13) 55 = 7=
14) 206 +~ 2=
15) 70 - 8=
16) 41 ~ 6=
17) 1010 = 5=
18) 29 - 3=
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1) 50 +20= 1) 13-5=
2) 8+ 6= 12) 19 - 3=
3) 15+3= 13) 14 -T7=
L) 7+8= 14) 12-6=
5) 30+7= 15) 15-8=
6) 2+ 7= 16) 18 - 2=
17) 13 - 6=
8) 16 +3= 18) 18 - 9=
9) + = 19) - =
10) + = 20) - =
F a 1t | A | 13 r.: x| | s | T
70 1ag 7 17 16 L4 55 &
Lk \

Lt ARES TS LTEtosddd Hohh HEks
BELAEDT FAOARIITIHT FAMRIwITTH T
| Lt > Ly ALFIICRTE AFEDC y

INW 7 M https://gampuri.net/




2 shaLEs ]

132114 HATU BETLIA

FURFTRen i ALE TICLhRS

[ijwﬁﬁufau BELTL IR NTEAf ARLESLT 2RO TE

|

1) 6 x72= 11) 560 =~ 8=

2) 32 X% 3= 12) 62~ 8=

3) 4 X T= 13) 55 =~ 7=

4) 30 X 7= 14) 206 ~ 2=
15) 70 ~ 8=

6) 84 x 3= 16) 41+ 6=

7) 9 X 6= 17 ) 1010 =~ 5=

8) 103 x6= 18) 29 +3=

9) X = 19) <+ =

10) X = 20) =~ =
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